

UNIT 3

Choose the correct word to complete each sentence.

1. Students, you need to 	so you are covering the whole field, and not all in the same place.

	a.
	tend to

	b.
	lower

	c.
	spread out


ANSWER: c POINTS: 1

2. There is a huge 	of cafés in this part of the city, so we will find a nice one for lunch.

	a.
	concentration

	b.
	income

	c.
	suburb


ANSWER: a POINTS: 1

3. More and more people are moving to 	areas because there are more facilities in cities and towns.
	a.
	urban

	b.
	canal

	c.
	occasional


ANSWER: a POINTS: 1

4. Dhaka in Bangladesh is a(n) 	city, with more than 30,000 residents per square kilometer.

	a.
	occasional

	b.
	dense

	c.
	partially


ANSWER: b POINTS: 1
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5. We are looking to move to the 	because we have had enough of living in the busy city.

	a.
	suburbs

	b.
	aspect

	c.
	residents


ANSWER: a POINTS: 1


Match the words to the definitions.

	6.
	temporarily
	⬤
	⬤
	a.
	The road is 	closed because a tree fell last night in the storm, but you can still access it from the south side.

	7.
	partially
	⬤
	⬤
	b.
	There was a(n) 	storm last night that took off the roofs of some houses.

	8.
	occasional
	⬤
	⬤
	c.
	We have some 	problems in the class, but generally every student is well behaved.

	9.
	fierce
	⬤
	⬤
	d.
	Selina is 	working for the company, covering for another member of staff who is on a long break.

	10.
	separated
	⬤
	⬤
	e.
	The cities are 	by a river.


ANSWERS: 6. d, 7. a, 8. c, 9. b, 10. e
POINTS: 5
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